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QUESTION 1

memory_target big integer 808M pga_aggregate_target big integer 0 sga_target big integer 0 SQL> SHOW
PARAMETER SGA_MAX_SIZE

NAME TYPE VALUE sga_max_size big
integer 808M Which statement is correct about the database?

A. Automatic memory management is disabled because PGA_AGGREGATE_TARGET and SGA_TARGET are not set.
B. The instance is started but the database will not be opened until PGA_ AGGREGATE_TARGET and
C. SGA TARGET are set.

D. The database is opened but users cannot perform transactions until PGA_AGGREGATE_TARGET and
SGA _TARGET are set.

E. Automatic memory management is enabled and, as per the policy, 60% of the memory for System Global Area
(SGA) and 40% of the memory for Program Global Area (PGA) will be distributed at startup.

Correct Answer: E

QUESTION 2

You are using the control file to maintain information about the database backups that are being performed by Recovery
Manager (RMAN).

Identify two scenarios in which you must have a recovery catalog.

A. To store the backup information of multiple database

B. To restrict the amount of space that is used by the backups

C. To maintain a backup for a certain time is set by the CONTROL_FILE_RECORD_KEEP_TIME parameter.

D. To list the data files that were in a target database at a given time by using the AT option of REPORTSCHEMA
command.

Correct Answer: AD

QUESTION 3

Which two statements are true about the duplexing of the backups taken by RMAN?
A. It\\'s only supported for the backups performed on the tape

B. It is not supported for backup operations that produce image copies

C. Duplex backups need a parallelism for the device to be equal to number of copies

D. Duplex backups can be performed to either disk or tape, but cannot be performed on tape and disk simultaneously
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Correct Answer: BD

QUESTION 4

To accomplish user-managed backup for the USERS tablespace, you issued the following command to put

the tablespace in backup mode:

SQL> ALTER TABLESPACE users BEGIN BACKUP;

While copying the file to the backup destination a power outage caused the instance to terminate

abnormally.

Which statement is true about the next database startup and the userstablespace?

A. The database will open, and the tablespace automatically comes out of the backup mode.

B. The database will be mounted, and recovery must be performed on the USERS tablespace.

C. The database will be mounted, and data files in the USERS tablespace must be taken out of the backup mode.

D. The database will not be mounted, and you must restore all the data files for the USERS tablespace from the backup,
and perform recovery.

Correct Answer: C

QUESTION 5

Which statement is true regarding the creation of nested plans using the Oracle Resource Manager?
A. Only one nested subplan is allowed per parent plan

B. The plans can be nested up to four levels.

C. Nested plans only control resources used by recursive SQL

D. Nested plans control only the degree of parallelism and I/O requests

E. Each nested plan gets a proportion of the CPU resources assigned to its parent group.

Correct Answer: E

QUESTION 6

Identify two advantages of using a recovery catalog instead of the control file of the target database in Recovery
Manager (RMAN).

A. You can use RMAN stored scripts.

B. Recovery is faster if data is stored in catalog in addition to the control file.
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C. You can store backup information of all registered databases in one place.
D. Database backups are automatically deleted when they are older than the specified time period.

Correct Answer: AC

QUESTION 7

There was media failure and you decide to check the data files for block corruption. Which would you use to create a
report on any corruptions found?

A. the DBNEWID utility

B. the DBVERIFY utility

C. the ANALYZE command

D. the RMAN REPORT command

E. the RMAN CROSSCHECK command

F. the CHECK_OBJECT procedure of the DBMS_REPAIR package

Correct Answer: B

QUESTION 8

View the Exhibit to observe the error.

ORACLE Enterprise Manaqer 11g feup Pelorercos Help Leooul
Database Caontraol Database |

e ———————————————————————=
Databass Instances: arel = Legaed in A= SYS
(X) Database Error
ORA04031! unable o alicale 3936 byles of shared memory ("shared pool’ "SELECT aadvEor mame, a.tas..." 'sga
heap(1,0)","kglsim objecl mich®)

You receive this error regularly and have to shutdown the database instance to overcome the error. AutomaticShared
Memory Management is configured for the instance.

What can you do to reduce the chance of this error in the future?
A. Increase the value of SGA_MAX_SIZE

B. Enable automatic memory management

C. Set the PRE_PAGE_SGA parameter to true

D. Lock the System Global Area (SGA) in memory
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Correct Answer: B

QUESTION 9

User SCOTT wants to back out the transactions on the REGIONS table in his schema. As a DBA, which commands
must you execute to enable SCOTT to flash back the transactions?

A. ALTER DATABASE FLASHBACK ON;

B. GRANT SELECT ANY TRANSACTION TO scott;

C. GRANT EXECUTE ON dbms_flashback TO scott;

D. ALTER DATABASE ADD SUPPLEMENTAL LOG DATA,;

E. ALTER TABLESPACE undotsl RETENTION GUARANTEE;

F. ALTER DATABASE ADD SUPPLEMENTAL LOG DATA (PRIMARY KEY) COLUMNS;

Correct Answer. BCDF

QUESTION 10

Your database is running in ARCHIVELOG mode. You have been taking backups of all the data files and
control files regularly.

You are informed that some important tables in the BILLING tablespace have been dropped on February
28, 2007 at 10.30 AM and must be recovered.

You decide to perform an incomplete recovery using the following command:

SQL> RECOVER DATABASE UNTIL TIME \W'2007-02-28:10:15:00\\';

Identify the files that must be restored to recover the missing tables successfully.

A. Restore the backup of all the data files.

B. Restore the backup of all the data files and the control file.

C. Restore the backup of only the data files that contain the dropped tables.

D. Restore the backup of all the data files belonging to the tablespace containing the dropped tables.

Correct Answer: A

QUESTION 11

Because of a logical corruption in the EMPLOYES tables, you want to perform Tablespace Point-in-Time Recovery
(TSPITR) to recover the table. Before you started the TSPITR process, you queried the TS_PITR_CHECK view and you
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realized that the table has a referential constraint with DEPARTMENTS that exists in another tablespace,
MASTERTBS.

Which two actions will permit the TSPITR to work? (Choose two.)
A. Taking the MASTERTBS tablespace offline

B. Dropping the relationship between the tables

C. Adding the MASTERTBS tablespace to the recovery set

D. Putting the MASTERTBS tablespace in read-only mode

Correct Answer: BC

QUESTION 12
The EMP table exists in your schema. You want to execute the following query:

SELECT ename, sal FROM emp AS OF TIMESTAMP (SYSTIMESTAMP - INTERVAL \\W6\\' MINUTE) WHERE ename =
\VALLEN\;

What are the minimum requirements for the statement to execute successfully? (Choose all that apply)
A. ARCHIVELOG mode must be enabled

B. Row Movement must be enabled for the table

C. FLASHBACK must be set to ON for the database

D. The UNDO_MANAGEMENT parameter must be set to AUTO

E. The UNDO_RETENTION parameter must be set appropriately

Correct Answer: DE

QUESTION 13

Evaluate the following block of code:
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BEGIN
DBEMS NETWORK ACL ADMIN.CREATE ACL (
acl =>"'mycompany-com-permissions.xml',
principal => 'ACCT MGR',
is grant => TRUE,
privilege => 'connec ');
DEMS NETWORK ACL ADMIN.ASSIGN ACL (
acl —> "'mycompany-com-pcermissions.xnml’,
host => '*.mycompany.com') ;
END;
What is the outcome of the above code?
A. It produces an error because a fully qualified host name needs to be specified.
B. It produces an error because the range of ports associated with the hosts has not been specified.

C. It creates an access control list (ACL) with the user ACCT_MGR who gets the CONNECT and RESOLVE privileges.

D. It creates an access control list (ACL) with the user ACCT_MGR who gets the CONNECT privilege but not the
RESOLVE privilege.

Correct Answer: C

QUESTION 14
Your database is using a default temporary tablespace that contains the temp01.tmp temporary file. All the users on the
database use the default temporary tablespace. A user issues a query on the orders table and receives the following

error:

ERROR at line I: ORA-01565: error in identifying file \\/uO1/app/oracle/oradata/TEST/temp01.tmp\\' ORA-27037: unable
to obtain file status

What would be the most efficient way to rectify this error?
A. Add a new tempfile to the user\\'s temporary tablespace and drop the tempfile that produced the error.
B. Shut down the database instance, restore the temp01.tmp file from the backup, and then restart the database.

C. Allow the database to continue running, drop the temp01.tmp temporary file, and then re- create it with new
tempfiles.

D. Take the temporary tablespace offline, recover the missing tempfile by applying redo logs, and then bring the
temporary tablespace online.

Correct Answer: A

QUESTION 15
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Which two statements are true about the Automatic Diagnostic Repository (ADR)? (Choose two.)
A. The ADR base keeps all diagnostic information in binary format

B. SQL*Plus provides the ADRI script, which can be used to work with ADR

C. The ADR can be used for problem diagnosis only when the database is open

D. The ADR can be disabled by settting the DIAGNOSTIC_DEST parameter to null

E. The ADR can be used for problem diagnosis even when the database instance is down

F. The ADR base is shared across multiple instances

Correct Answer: EF
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